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 Exam Question on Autograph
Express 
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 in partial fractions.
Hence find the exact value of 
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, as a single log.


	First add the equation as shown below:
	Add the equation below, where a and b are the constants you are to find
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- Equation 1:

Y=(5x+3)/((2x=3) (x+2))





	[image: image5.png]- 4

Il Equation 2: y=a/(2x-3)+bi(x+2)






	
	

	Use the Constant Controller to check the values of a and b you have found using algebra – aiming to get the two graphs to coincide!
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	To check your calculated area is correct – attach points to the curve at x = 2 and x = 6.
Select both these points then ‘right click’ to enable ‘Area’ to be calculated. Use ‘Trapezium Rule’ with, say, 50 divisions.

The answer should agree with the one you have as a single logarithm!
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